N-RN: Use properties of rational and irrational numbers
1. A multiplication table is shown. Select the boxes within the table for which the product of the row and column values is a rational number.
	
	-⅔
	√30
	9.4
	π

	-⅔
	I
	II
	III
	IV

	9.4
	V
	VI
	VII
	VIII

	√30
	IX
	X
	XI
	XII

	π
	XIII
	XIV
	XV
	XVI


2. Ignacio claims that the product of two irrational numbers is always irrational. Cassandra disagrees with Ignacio. Which product can Cassandra use as an example to show Ignacio his claim is incorrect?
A. (√3)(√7)

B. (√4)(√10)
C. (√5)(√20)

D. (√9)(√16)
3. Let c be any rational non-zero number. Let d be any irrational number.

Correctly complete each sentence.

The product of c and d will be classified as ________.

The sum of c and d will be classified as ________.
N-Q: Reason quantitatively and use units to solve problems
4. The formula for momentum is given as p = mv.
p = momentum
m = mass, in kilograms (kg)
v = velocity in meters per second ms
What are the units used for momentum? 

5. While performing a chemistry experiment, a lab technician is allowed to leave the experiment unattended for up to 30 seconds every 5 minutes. The experiment is expected to last 2 hours.
What is the maximum amount of time, in minutes, that the lab technician may leave the experiment unattended?

6. Jose has to make a fax cover sheet using a standard piece of copy paper, which has a length of 11 inches. He wants the top ⅓ section of the paper to be for graphics and the rest of the sheet to be a text section, with the two sections separated by a horizontal line segment. His ruler can measure halves, fourths, eighths, and sixteenths of an inch.

If he measures from the top edge of the paper using this ruler, which measurement would put the line segment closest to ⅓ of the way down the page?

A-SSE.A: Interpret the structure of expressions
7. The total cost of renting a car at Price Rental is determined by the number days a car is rented, at $50 per day, and the number of miles it is driven, at $0.25 per mile. The company uses the expression 50x + 0.25y to evaluate the total cost of renting a car.

What does the variable y represent?

A. the total number of days rented

B. the total number of miles driven
C. the total amount charged per rental day
D. the total amount charged per mile driven
8. The expression 8750(1.03)x represents the number of people that visit at an exhibit in year x.

The number of people that visit an exhibit _______ at a rate of _____ each year.
9. The number of yearly visitors to the South Haven Visitor Center can be represented by the expression 7500(1.035)t where t is the number of years since 1995. 

The number of vistors to the South Haven Visitor Center has _______ by  _____ each year since 1995.
10. In the expression P – (n2 – 1)3, P and n are whole numbers and P > 0. Which statement describes the value of n2 – 1?
A.  It is a whole number.
B.  It is a positive integer.
C.  It is an integer less than or equal to –1.
D.  It is an integer greater than or equal to –1.

11. Select the expression that is equivalent to 64 – a2.
A. (8 – a)2
B. (8 – a)(8 + a)

C. (16 – a)(4 + a)

D. (32 – a)(2 + a) 
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N-RN: Use properties of rational and irrational numbers
1. A multiplication table is shown. Select the boxes within the table for which the product of the row and column values is an irrational number.
	
	-⅔
	√30
	9.4
	π

	-⅔
	I
	II
	III
	IV

	9.4
	V
	VI
	VII
	VIII

	√30
	IX
	X
	XI
	XII

	π
	XIII
	XIV
	XV
	XVI


2. Ignacio claims that the quotient of two irrational numbers is always irrational. Cassandra disagrees with Ignacio. Which product can Cassandra use as an example to show Ignacio his claim is incorrect?
A. (√3)
(√7)

B. (√4)
(√10)
C. (√9)

(√16) 
D. (√5)
(√20)
3. Let c be any rational number. Let d be any irrational number.

Correctly complete each sentence.

The product of c and d will be classified as ________.

The sum of c and d will be classified as ________.
N-Q: Reason quantitatively and use units to solve problems
4. For the formula m = p
         v
p = is measured inn kilograms (kg) per hour
m = ?
v = is measured in meters
What are the units used for m? 

5. While performing a chemistry experiment, a lab technician is allowed to leave the experiment unattended for up to 60 seconds every 5 minutes. The experiment is expected to last 2½ hours.
What is the maximum amount of time, in minutes, that the lab technician may leave the experiment unattended?

6. Jose has to make a fax cover sheet using a standard piece of copy paper, which has a length of 22 inches. He wants the top ⅓ section of the paper to be for graphics and the rest of the sheet to be a text section, with the two sections separated by a horizontal line segment. His ruler can measure halves, fourths, eighths, and sixteenths of an inch.

If he measures from the top edge of the paper using this ruler, which measurement would put the line segment closest to ⅓ of the way down the page?

A. 7½ 

B. 7¾ 

C. 7

D. 7⅜

A-SSE.A: Interpret the structure of expressions
7. The total cost of renting a car at Price Rental is determined by the number days a car is rented, at $50 per day, and the number of miles it is driven, at $0.25 per mile. The company uses the expression 50x + 0.25y to evaluate the total cost of renting a car.

What does the variable x represent?
A. the total number of days rented
B. the total number of miles driven
C. the total amount charged per rental day
D. the total amount charged per mile driven
8. The expression 8750(3)x represents the number of people that visit at an exhibit in year x.

9. The number of people that visit an exhibit _______ at a rate of _____ each year.
10. The number of yearly visitors to the South Haven Visitor Center can be represented by the expression 7500(0.035)t where t is the number of years since 1995. 

The number of visitors to the South Haven Visitor Center has _______ by  _____ each year since 1995.
11. In the expression P – (n2 – 1)3, P and n are whole numbers and P > 0. Which statement describes the value of (n2 – 1)3?
A.  It is a whole number.
B.  It is a positive integer.
C.  It is an integer less than or equal to –1.
D.  It is an integer greater than or equal to –1.

12. Select the expression that is equivalent to 64 – 4a2.
A. (8 – 2a)2
B. (8 – a)(8 + a)

C. (32 – a)(2 + a)
D. (8 – 2a)(8 + 2a) 
